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WIS (9 Fa1 (1 B9 = 100 kg)|
Sol"
3W® A_{EE (@91 (u)=0
SRS T (t) = 20 sec.
WfoFY S (s) = 400m.
4 (m)=7 |
=7 x1000 kg
= 7000 kg.
¥ (a)=?
I (F)=?
AfSq, S=ut+ Laf
=400=0x20+ }ax20°
=400= > xax400

= 1a=1

= a=2
SMOIY~E G = 2m/sec?
MO $S [TFW F91 39 (F) = ma.
=TOOXx2N
= 1400 N

6. 1kg &4 171 981 XWge 3w 9B T A 20misec (AT |
wferR s 51 250 m Ay wfe@my =fT 3 &1 e e Iawq
WrGTe TFT 39 fFume
Sol"

2SS9 (m) =1 kg

HAEF (39 (u) = 20m/sec.

S¥Y ([ (v)=0

WS Y F41 449 (s) = 250m.
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|41 (a)="?

I (F) =2
AfSHI v = 12 + 2as.

=0°=20°+2xax250

= 0 =400 + 500a

= 500a = — 400

=_ 4
=a=-:

¥ (F)=ma

1x(-2)N

N
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(F) = (40000~5000)N
= 35000N
(}) @ANME I 5 4 = (8000 + 5%x2000)k.g.
= 18000k.g.

;. AMER Tl (a) =

='%mmcz

= %—%uﬁm’

() 2 72 w4A 5 S (m') = (4 x 2000) kg.
= 8000 kg.

44 (a) = %%mfsec’
5 1 9L Galg 2 /2 ware fFm 34 98 F' = mla

& 3@@(}4000 xﬁi N
9

160000 N
. 9
= 160000 N.

8. WBq 44T ST 1500 kgl STEIYN 1.7 misec? YIMYH FILNA
YA W® A WG 9 fFU T3 757 2

Sol"

EW® ©9 (m) = 1500 kg.

¥4 (a) = -1.7 m/sec? .

€ (F) = ma

= 1500 x (-1.7) N

= -25500N

SOl W SH WGS I61 = 25500N WF I19 fis1 Jmore Hfeq [F#3te ffers
79|

9. m 49 IF 4BT v (AT 51 fAta o1 ©1 @7 T39I
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(F) (mv)* () mv’ (M ; mv* () mv
LT RE
(§) mv

10. 200N SIYGINSE T HCAST FfA Frd5qT IS6 JB1 NGW 9Y=T FHa |
(A7 fRure (581 a1 120y | UGTHIUT AIBELBE SHTT THIS HAT T
F91q T fFa= 2

g

fAT=E 200N 31 251 F41 0207 FforE ¥ 3 fF=19e fre 200N T3

11. 1.5 kg S KBTI TF AT FFAUA FF FoTo e ofS sfarg)
HUWBT I/ YA 412 A5 a5 (AT W AT HE (@5 2.5misec|
Ured fOrge ey 9§ 1A (@9 fFu=?
Sol"
J® O 4, m=15kg, m, = 1.5kg
(A9 v, = 2.5 m/sec v = 2.5 m/sec .
SSUTSq W51F TJ SR = mvs + mava
= (1.5x2.5+1.5x2.5)kg.m/sec.
= (3.75+3.75) kg.m/sec.
. M4 (H129 ) S99 = 7.5 kg.m/sec.
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Sol"
291 &9 (m) = 200g

= % kg
= 0.2 kg.
48P (@9 (u) = 10m/sec
W@ @97 (v) = 5misec
.- &9 (A9 *f{TEF = mv - mu
= (0.2x5 - 0.2x10)kg.m/sec.
= (12) kg.m/sec.
= -1.kg.m/sec.

14. 10gm 9 GfF1 981 SITEIS TS 150misec (ATIMT 5T YFT WTHS
13 4 F151 [T 4B LF AR 0.035 sec WM WIHNY TAI
F54 pFanore ST WETEH Ay [y Fan ogfa e
RFAONE SFNER 89AS ATHIS F9 94 W Ay &4

Tga:
2W® H_EF (@91 (u) = 150 misec.
Sf&T (39 (v) = 0,
= (F)=17 SR g
afem, kg.
e wieqze JUY (1) =
= 0= lﬁﬂ:a x 0.035 0.035 sc ¢c. WfoFY Fq1
= &= - 0035 TR (s) = 2 3 (F) = 2
30000 gfem,
=l’lw?
== m

o SICE v = u? + 2as
= 0 = 150" + 2 x(-30),
= 0= 22500 - 80000, ,

- 60000, , = 22500

-1 i
.

=5 = 2.625
- WYE CIAE cural yag = 2.625
HicF = (F) = ma :

= 0.01x(—22P0) N
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15. 1kg ©A9 IF B A (A4S TS 10misec (ITIT T ST SIS

5kg ©4q P15 RFAT 4BrS Y1 NI ©re =f%r &f¥=11 o7 forge
TS G A (IY1S 511 WAy A1 N2ureq 53 wnre wre

5 fPrge T8 w1 @51 Ay @@ 71910e ey TP @1 o Fam

Sol”
&9 (v) = 10, m/sec.
. ALY WIS YF B4 (@9 = mv
; =1 x 10 kg.m/sec.
=1 x 10 kg.m/sec.
Heared fome Hge 3w =1 (') = (1+5)kg.
= 6kg.
41 AYE IGHR @ =V
T (B9 [T e W00,
mv = m'v
= 10 = 6V

:av’=%5‘

3
:\'J=%

o AT IFOR @9 = %mfscc.
- ACAreq forgs I o1 @ = (m+m)V
= (1+5)x 3 kg.m/sec

= 10 kg.m/sec.
1S SIfS*e IWIGH ©F (m) = 1kg.

16. 6sec T 10kg T4 T/ IBIF (I 5m/ssec T AT 8Bm/ssec (A IS

e T4 79 IFYER AEFS o+ wfFy sy [y a1 o7
IHBIE SHTT THIS T4 T4 TR ey Fam|

Sol"
291G AR[ES (I91 (u) = 5misec.
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&AW (9 (v) = 8Bm/sec.

©4 (m) = 100 kg.
HH (1) =6 sec
.. A€ SI (mu) = 100x5kgm/sec.
= 500 kg.m/sec.
HfET ST (mv) = 100 + 8kg.m/sec..
= 800kg.m/sec.
. SfCae 3 3 (F) = M
— MN
6
=30y =s0N.
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18. 10 kg. S4T GINTIA (dumb bell) GBT 80 m SHOX °rar MBS AfFra

mw (XA TATA9A UR Fam T2 REfey@ g9 10misec?
|

Sol"

291G &4 (m) = 10kg.

BE5@T (h)= 80m.

AREF @ (u)=0

ISR 99 (g) = 10m/sec?

EY @91 (v) =2,

w9 (mv)=?

vi=u’ + 2gh
=v'=0"+2x10x80
=> v = 1600
=> v* = 40°
=>v=40
. Sf®W (I (v) = 40m/sec.
WG ST (TR SN = mv.
= 10 x 40 kgxm/sec.
= 400 kgxm/sec.
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